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~fcientists The Theremin project

Level 1: Creating a one-hand operated Theremin

e Use 5V (1) and Ground/ GND (2) pins to

foop| abcde gt |k oo respectively provide 5V power and
wasded ESeatl i ground to your breadboard

so| seceoe R e Connect one of photoresistor’s (4) legs

e e 5 e @ & o o e & & o o 5 e o

eo|lcseses vevvec |os to power (5V), and the other to one of

il e s 5ssailles the analog pins (3) (pin AO in the

Sl e aadd [Badgaddl L example), as well as to ground through

b A 8 ke ; i N B the 10KQ resistor (5).
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bl [l -8t 4 g4 [annl Nl B e Use one of the digital pins (6) (pin 7 in
¢o| 56604 s "T‘- o5 [oo the example) to connect the Piezo
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ee|] mevees ¢osoan o Buzzer (7) through the resistor (5).

g ::: e Y ::: s e Keep in mind that there is no polarity to

b lm i dbdiob . o] Bl B At photoresistors. Therefore, you can change

¢o| 2e066e4 ceeceen (oo the circuit (meaning connect one of

e o 220 @ ¢ o o e o o o o 23 e o

¢o| e e0ees 4o 46 ;. o photoresistor’s leg to power through the

_"‘T; (um] el duatial N B 10KQ resistor and the other to ground) and

e o] 27eine e 0 ¢ e 0027 [ee still have a functional sensor. However, the

e o 28 o e o o e o e o 28 e o . .

Fo|l & .:,\:\ 293 99| |'s 3 values that you get will differ and thus, you
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AL R, @ fahi o need to do the necessary adjustments
and/or changes to your code later on.

Notes:
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